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1. Examine the properties of the demand functions of a consumer with the
following utility function: u(x) = f(x1) + x3; (f’ > 0,f" < 0). (10%)

2. (True or false with interpretation) Diminishing marginal rate of substitution
implies diminishing marginal utility. [Hint: Considering the utility function,
ux,y) = \/x_y, and its monotonic transformations to demonstrate your
argument.] (10%)

3. A constant elasticity supply curve,ap®, where @ is a constant, intersects a
linear demand curve, Q = a — bp. What is the incidence of a 51 specific tax?
Does your answer depend on where the supply curve intersects the demand
curve? Interpret your result. (10%)

4. If an individual’s Iabo.r supply curve slopes forward at low wages and bends
backward at high wages, is leisure a Giffen good? I[f so, at high or low wage
rates? And why? (10%) '

5. Under what conditions do the following production functions exhibit
decreasing, constant, or increasing returns to scale? (10%)

(a) Q=L+K
(b) Q = L°KP
(c) Q=L*KP+L+K

6. (20%) Find the Nash equilibrium (equilibria?) of a variant of the example of
Cournot’s duopoly game that differs from the traditional one (linear inverse demand,
constant unit cost) only in that one of the two firms choose jts output to maximize
its market share subject to not making a loss, rather than to maximizing its profit.
What happens if each firm maximizes its market share?

(In this question, the inverse demand is P =a—(qI +q2); the unit cost for both
firms is ¢.)

7. (10%) Players 1 and 2 are bargaining over how to split one dollar. Both players
simultaneously name shares they would like to have, s, and s,, where

0<s,,s, <1. If 5 +s5,<1, then the players receive the shares they named; if

$;+5, >1, then both players receive zero. What are the pure-strategy Nash
equilibria of this game?

8. (20%) Find all pure and mixed Nash equilibria in the following normal-form game.
B S X

4,2 ' O;O O, 1
S 0,0 2,4 1,3
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Answer the following five questions, equally weighted

1.(20%)

The 2 x 1 random vector (X,Y’)’ has joint density function f(z,y) = 8zy, 0 <
z <y<1. Find

(a). E(var(X|Y)), and

(b). var(E(X|Y)).

2.(20%)

Let X, 2 Z ~ N (0,1) (read as ” X, converges in distribution to Z that has a
standard normal distribution”) and ¥;, -2 4 (read as ”Y,, converges in probabil-
ity to 4”). To what do the following converge ? State the reason.

(a). 1%” , and

dn4-Yn)Xn
(b). (71:}—’:+})’2 :

3.(20%)
Suppose we observe X;, i = 1,2,...,n, independent with X; ~ P(if). Find the
information bound (lowest variance bound) for the variance of unbiased estima-

tors of 4.

4.(20%)

A random sample of size 20 have been drawn from N(u, 0?), and we know that

20 20
Y Y =18210 and Y Y =8.8878.

i=1 i=1

Please test the null hypothééié: Hy : = 0.618 against the alternative one:
Hy @ p# 0.618 at the 5% significance level (or a = 5%).

5.(20%)
Let the 3 x 1 random vector x = (X7, X5, X3)' follow a multivariate normal

distribution,
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Suppose that ¥ = 3X; +4X, + X3. Find the probability that P(Y > 30).

where
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1. Why is the corporate profits tax often criticized by economists?
a. It only applies to corporations.

b. It makes up a large part of federal tax revenues.

c. It results in double taxation.

d. Both (a) and (c) are correct.

2. An economic expansion causes

a. the federal budget deficit to rise

b. federal government tax receipts to fall
c. federal government spending to rise

d. transfer payments to fall

3. Which of the following is an advantage of a single European currency?

a. Each country continues to have autonomy with respect to monetary policy.

b. The exchange rate risk is eliminated.

c. Countries must maintain fiscal discipline which increases the use of fiscal policy.

d. None of the above are advantages.

4. If a country removed an import quota on cotton, then overall that country’s
a. exports and imports would rise.

b. exports would rise and imports would fall.

¢. exports would fall and imports would rise.

d. exports and imports would fall.

'5 If the world thought that many banks in a certain country were at or near the point of bankruptcy, then that

country’s real exchange rate

a. would fall and net exports would rise.
b. would rise and net exports would fall.
c. and net exports would rise.

d. and net exports would fall.

6. The exchange rate is 1.5 Bosnian marks per U.S. dollar. The price of a refrigerator in Bosnia is 1,200 marks

while in the U.S. it is $1,000. The real exchange rate is
a. 9/5 b.5/4 c.4/5 d. None of the above are correct.

7. Credit cards are
a. a medium of exchange. b. important for analyzing the monetary system.

c. counted as part of M2 but not as part of M1. d. All of the above are correct.
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8. The research by Robert Hall on the theory of consumption suggests that the best forecast of consumption for

next year would be: .
a. unpredictable. b. this year's consumption c. random  d. lastyear's consumption

9. In the short run, an increase in government spending that causes an increase in the budget deficit:
a. affects the level of output but not its composition

b.  affects both the level and composition of output

c.' affects only the price level d. isneutral e. none ofthe above

10. If the Ricardian equivalence proposition is correct, then
a. deficits harm future generations. b. deficits reduce investment spending.
¢. deficits stimulate the economy in the short run.
d. all of the above. e. none of the above.

11. The more staggered are labor contracts, -
the greater the inflationary effects of a given change in money growth in the medium run

a.
b. the less rapidly the economy will adjust to changes in aggregate demand

c. the more rapidly the economy will adjust to changes in aggregate demand

d. the less inflationary effects of a given change in money growth in the medium run
12. Monetary policy affects which of the following variables in the long run?

a. the level of output.  b. the rate of unemployment. c. the rate of inflation.

d. the real interest rate. €. all of the above.

13, The Taylor rule (where a and b are positive parameters) is represented by:
a. i=i*+a(p*-p)-blu,-u)
b. i=i*+a(p-p*)+ blu-u,)
c. i=i*+a(p*-p)-blu-u,)
d.  none of the above

14. Monetary policy has short-run effects on which of the following?

a. the level of output but not its composition b. only the price level

¢. both the level and composition of output  d. only the nominal interest rate, not the real interest rate
e. none of the above

15. For this question, assume that the there exists uncertainty about the impact of monetary policy on the
macroeconomy.  Given this information, it would be most appropriate for the central bank to increase money
growth

a. at the midpoint of a recession. b, by more than the increase that will yield the desired response.

¢. by less than the increase that will yield the desired response.

d. by an amount equal to the increase that will yield the desired response.

e. only after it is certain that the economy has entered a recession.

16. Research for a number of OECD countries suggests that inflation will be lower:

a. the more independent the central bank b. the less independent the central bank

c. ifthe heads of central banks are chosen by election :

d. when the terms of the heads of central banks coincide with the terms of elected officials

17. Who is best known for arguing about the long and variable lags of monetary policy?
a. Friedman b. Keynes ¢. Phillips d. Greenspan e. Bernanke

18. Which of the following represents debt monetization?
a. an increase in the budget deficit that is financed by money creation.
b. an increase in the budget deficit that is financed by foreigner investors’ purchases of domestic bonds.
c. an increase in the budget deficit that coincides with a central bank sale of bonds.
d. an open market purchase of bonds that results in inflation.
e. none of the above.
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19. Which of the following would NOT be included in an orthodox stabilization program?
a. atax increase b. areduction in government spending
€. wage and price controls d. areduction in the money supply e. bothaandb

20. Use the IS-LM model in which the nominal interest rate is on the vertical axis to answer this question.
Initially assume that expected inflation is zero, Suppose individuals suddenly expect deflation.  This expected
deflation will cause which of the following? :

a. the IS curve shifts to the left.
b. the IS curve shifts to the right, and the LM curve. shifts down . c. the LM curve shifts up.
d. the LM curve shifts down and the IS curve shifts to the right. e. none of the above,
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1. Fisher effect
2. golden-rule capital stock
3. Solow residual
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